Chapter - 1
eulgeflwev

Ex 1.1

Gseitedl 1.
6 Q&S HeTIpd 3 QF.1Y SHEV(NLD 2 _6T6T QF6UAIHEMS 2 (HeUTHSS
Gz emeuulmeot &LOLNUIN6DT [HETLD 6TeU6U6TEY.

edleoL :

QF6UAISSH 6T HeTlD = 6 Q&L
QF6UAISSH 6T &V = 3 Q&F.LS
QEF6UAISGSTH 6T &-MHmeTe] = (2 x 1) + (2 x b)
=2x6)+(2x3)=12+6=18 Q&F.L0

allenL:
Ggemeuwlmeot sOLNUlleor Herd = 18 Q&L

Goeite 2.
QR QFIaESF 601 HeTd 14 1S LDMHMID 3i&6evLD 10 LY 6T6vfl6v )55 60T
FMHMETEN6US &IT600TS.

6oL :

QFeUEST 6T HeTn = 14 LI
QFEUESH 6T 3|&H6eVLD = 10 LS
QFUGST 6T SrMmeTe] = (2 x 1) + (2 x b)
=(2x14)+(2x10)=28+20=48 10

eflemL:
QF6UAISE T 6T SrMHmeTe] = 48 LS.

Gseitedl 3.
QRH FSHTSHH 6T LISSHLD 710 6T601160 5607 &-MHMETEM6UE &IT600T 5.

eflevL :
FSITHH 6T LGS = 7 Q&0



FEITSH 6T &FMMeTe = 4a
=4 x 7 =280

edlemL:
FEITSH 6T FMMmeTey = 2810

Caeitedl 4.

34018 HerepLd 1601 860D G8MeooTL 62(H HleVEEMS 2(LNEmM & M)
QUM CMITLD 676016V, HITLD HLEHGLD STTHMSHEH B G L L [flev

& 60T .

eflevL :

BleVSH 60T | &HeVLlD = 34010

BlevsE 6ot HeTld = 16015

GomeTe] = (2 x 1)+ (2 x b) = (2 x 340 ) + (2 x 160) = 680 + 320
@) (WM FMMILD Q& Ten6eva]= 1000LT

@\ (emM SMHMID QS MTemeva = 1000 x 2 = 200019

1615 = 100015

HLEGL STy HCeumSLLiflev = 2000 + 1000 = 2&).L0

6oL :
FHL&GL 1L SCeumiLLiflev = 2&).L0

Gaeitedl 5.

FGH& 6T60TLIGUT BIMTETCHMTMILD 62(H FHITAUL AL LLKISTen6 10 (D6 M
FOn UGS OTY. Lismeller Lss 3j6mey 11018 erevflev, e Hmerflev

FEho HLHGLD STIHmME5EH BCeuMSLLflevibd, S Lflevid &meoorss.

6oL :

LLBIG TN 60T LIS&H 6me] = 11001&.185

SHL&GLD SMTLD = &FMHMETeY

FHmeTe] = 4a = 4 x 110 = 440L9

R (PeNM SHMILD SITID = 440U5

LSS (nemm &MmILD &= 440 x 10 = 4400L8

LSS (pemm SMHmild STy SHGeum L L fleb = 4400 + 1000 = 4 &).LS 400
LS



ellevL:

62([H [BITET &HL_&GLD STTLD

SCeum LSL_Lfl6L = 4 &).L5 40019

WS Liflev = 440018

Q&F6UEIGID IDMHMID FSITEHH 60T LIFLILIETE)

&S S\ TLD:
QFeIEST 6T LITLIL6Te] = | x b
QF6UEST 60T LITLILIGTE = a2

Ex 1.2

Gaeitedl 1.
FSITHD 6T 1SS 3]6T6 56T HCLNS Q&MT(HE S LILIL (H6TeTe.
leuMMI6dT LIFLILIGTe06U8 85 T600Tds.

)10 WOLL[

efleoIL :

LI&&I0 = 10 1S

FSITSH 6T LITLILIETE] = a2
=10% = 100 &.L9

i) 5 Q&L

eflevL :
L&&MD = 5 QF.L0
FSITSS 60T LITLILI6TE| = a° = 52 = 25 &F.10

i) 15 8L 7

edleoL :

L&&LD = 15 18

FHTSH 60T LUFLILIETE| = a2
= 152 = 225 &.10

iv) 16 Q&S



eleoL :
LSS = 16 Q&F.LO

FHTSH 60T LUFLILIETE| = a2
= 162 = 256 FO&F.10

Caeitedl 2.
LY edTeu(hLD Ql&F6U6ISMBIGETI6T LITLILIGTEN6UE & IT600T 5.

i) Berld = 6Q&.15 LDMMILD Y &6eVD = 3Q&F.L9
efleoIL :

uguueTe) =1 x b

=6x3=185Q&L0

i) Herd = 719 LDMHMID Bj&Hevld = 418

6oL :
Uglderel =1 x b
=7 x4=28810

iii) Berd = 8Q &8 LnMHMILD |&HevLd = 518
6oL :

uglderel =1 x b

=8x5=40&50&.108

iv) Berh = 91§ LnMHMILD 9j&6VID = 615

6oL :
uglderel =1 x b
=9 x 6 = 54 .10
Gseite 3.

@ LnemeoTuller ellemeuwments 1&. L0 L(H& & T 800 eTevflev, 1518
HernLd 108 9&eVND Q& MevoTL LnemeoTUN6dT QDTS S 616016V 6T60T6OT?

el :
LnemeoTufledr Hertn = 15u8
Loemeor uiledr &1&eulh = 109



uglderel =1 x b

=15 x 10 = 150 &.L9

F.10L Lfledt ellemev = T 800

150 &.LOL_Lifledt edlemev = 800 x 150 = ¥ 1,20,000
6oL

150 &.18 Lnemeot uiledrT eflemev = ¥ 1,20,000

Gmeial 4.

QRMH FSHTSHH T LISHHLD 6Q&F.15 9@ LD. (5 QF6UIESS T 60T [HeTLD
10Q&.15 LDMHMID ${&56VID 46F.15 QL,GWD. FSITID IDMHMID QF6eIGHLD
LS W eUMMI6T &M MmETen U LITLILISTEM6UW|LD & T600T5.

allenL:

w1

FHTSH 6T LSS = 6 Q&F.10
FSITSS 60T LTLILI6TE] = a2

= 6° = 36 FQ&FLS
FHITEH 6 SMHMeTe) = 4a
=4 x 6 =24 Q&8

L2

QF6UESH 6T HerTn = 100&.10
QFEUEST 6T 3|6V = 401&.10
QFeIEST 6T LITLIL6Te] = | x b

=10 x 4 = 40 5Q &5

QFUEST 6T Srmmerea] = (2 x |) + (2 x b)
=(2x10)+(2x4)=20+8=28Q&.LA

eflemL:

FSITSH 60T LUTLIL6Te| = 36 FQ&.10
FSITEH 6T FMHMETE| = 24Q1&.10
QF6IAISST 6T LITLILIATE] = 40 FQ&F.LS
QF6UAIS ST 6T & MHMETe| = 28Q &.10

Gaeitedl 5.

1418 BemoLd 101 &{&H V(LD Q&HMTEITL Fal L JRI&HSH MG SenTLILLF &
QEFWW FaITSLL(IHEHE 360 afsD QLG QTS 2 mPLILLS WD
6TEUGUEITEY?



allenL:

Fol LJRI&SSS 6T Hern = 1410

Fol LJBI&SSD 6T 3(&H6eVlD = 1018

Tl LJMR&SSS6r LFLiLeTe] =1 x b

=14 x 10 = 140 .18

1. 8.0 O JLILLF&&H 5T allemev = 3 60

140 &.18 LI, F588Ter allemev = 140 x 60 = 8400
aflemL:

140815 M TLILLEG &M allemey = T 8400

InText Questions

GMHM6Te] LDMMILD LIFLILI6TE:

G&SS T :

QEF6UAISGEH 6T &-MHMeTe] = (2 x [HETLD) + (2 x &6VLD)
FSITHH 60T FMHMETe] = 4 x a (&S LD)

(NG BB MTEOITSH 60T SrMmeTel =P =a+b +c
a=U&5D, b= HeMLSETLD, c = LISHSHLD

L1&>8. 6T600T : 2,3

QEweoIm( 1

R6UGEUM(IH QUILEUSH MEGLD M METEnN6US &5TE00TS.

Gseiral 1.

6 6§15

@ 5 qglf >
O 5818 O

6 61510



elleoL :

QI F6UCIE ST 60T M M6
P=2x1)+ (2 xDb)
=(2x6)+((2x)5)

=12+ 10

P=22 Q&5

Gaeire 2.

4 5.5

O 48 ©
o aes8 ©

4 q\g15

edleoL :

FHITSHS60T &MHMETe
P=4xa

=4 x4

P=16 Q&0

Gseiral 3.

edleoL :
(NGBS TEoOTE H) 60T G+ MHMEITEY



P=a+b+c
=3+7+5
P=15Q&L5

Gaeire 4.

3 e&1b 3 e&1b

6 6F.5
6 6\FL0

eflevL :
GOMEMeyP=9+6+3+4+3+4+3+6
P=38Q&.0

Gae6iTeNl 5.
10 ei&.10
&, S
)
& .,
2 S
&
% A &
10 eg.16
6oL :

FMOMeTeP=10+5+5+10+5+5
P=40Q&L05

Gs et 6.



A© @

€9
E S
G €]
0 -

11 aig1b

eleoL :
GOMeTeP=11+16+7+7+ 16
P =57 Q&.L0.

L1&>85. 6T600T : 5
@) &H60)60T (LAUIGV S

Gaeirel 1.

1 6ai5

4 qg.5

4 q5.5



4 QF.10 LSHE aTeleTer Ul &517855)60T 62(H eLnemevuiled b S! 1
Q&S LG8 I|6Te6TeT &FSITLNMerdl GeUl 19QWRSELIUGRMS!
6160116V, LSS (LNEITEIT SrMMETEMEUS &HITE00TS. (LIL&eM& LIMTTEH )

edleoL :

FHTEH 60T FrHmerTe] P =4 x a
=4 x4=16 Q&0

QAL IQQW(HN&HSHLILILL
FHITHS 60T FHmeTe| P =4 x a
=4 x1=40Q&L10

LSS (LN6ITET 6119 61 8 &) 60T
G DMee)
=16-4 =12 Q&5

L1&8. 6T600T : 10
QFweuLIm(H 2 :

Caeitedl 1.

SLLESHSTmETL LWeTLMSS), QF6ualsID InMMILD FSITLD
G WeuMN6T LIFLILIGTEN6US 85Te00T5. 6l aUTIH FHITE S 60T
LTLILI6TeY

1 FQ&.10 G LD.



a) FSITSH 60T LITLILIETE] = a’
a’=4
a=20Q&10

GMHMeTe)]| = 4a
=4 x2=8Q&L0

b) F&ITSH 60T LTLILIETE| = a°
a’=9
a=30&10

GMHMeTe| = 4a
=4 x3=12Q&0

C) QF USSR T LFLILeTe = | x b
=5x2=10Q&.L8

gmmere] =2 (I + b)
=2(55+2)=140&10

d) QF6UaUISHEH 60T LITLILIETe| = | x b
=5x3=15&Q&.10



gmomere] =2(l +b) =4 x 3
=2(55+3)=120&10
=16 Q&0



